2006639

This booklet contains 7 printed pages. Question Booklet No. :
Question Booklet for TDP (General) 2nd Semester (Special)
Exam., 2018 -
SANSKRIT
Full Marks : 40 ] SECOND PAPER [ Time : 1 Hour

Question Booklet SET No. : A

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO

1 Read the following INSTRUCTIONS carefully :
i 1. Use black/blue dot pen only.
: 2. Fill in the particulars given below in this page.

3. Fill in the particulars [on the Side 1) of the OMR Answer Sheet as per Instructions contained in the OMR
Answer Shect.

4. The SET No. of this Question Booklet is A. Write the SET No. at the specific space provided in the OMR
Answer Sheet,

8. There are 40 (forty) questions in this Question Booklet, each cérrying 1 (one} mark.
6. Each question or incomplete statement is followed by 4 (four) suggestive answers—l|A], [B], [C] and [D] of

which only one is corrcct. Mark the correct answer by darkening the appropriate circle,

7. Marking of more than one answer against any guestion will be treated as incorrect response and no
mark shall he awarded,

E. Any change in answer made or erased by using solid or liquid eraser will damage the OMR Answer
Sheet resulting in rejection of the whole Answer Sheet by the computer. Therefore, do not change
or erasc once the answer is marked.

9. No parl of the Question Booklet shall be detached or defaced under any circumstances,

10. Use of mobile phone, calculator, log table, compass, scale and any electronic gadget {s strictly
prohibited in the Examination Hall,

11. Question Booklet and the OMR Answer Sheet must be returned to the Invigilator within
1 (one) Hour of the commencement of the examination.
12. Adoption of unfair means in any form or violation of instruction as mentioned in Point No. 10 shall resuit
3 into expulsion from the entire examination.
| 13. The candidate must ensure that the Question Booklet and OMR Answer Sheet are signed by the
Invigilator.

! 14. After opening the Question Boolklet, check the total number of printed pages and report to the
| Invigilator in case of any discrepancy. ;

Roll Number

% OMR Answer
Sheet No.

(As printed in the OMR Answer Sheet)

Verified and found correct

Full Signature of the Candidate Signature of the Invigilator with date

/1400-A



T S e |
The FHH c;;ldcrlincd word ‘31" is
[A] HOTRRHY
[B] ey
[C] WaEAHRE
[D] SUEFHRF]
A ST )

Fill in the blank with an appropriate word
from the following,

[A]l 77
[B] =q
[C] ¥7=

[D] T

ST
“STT:’ in the above Sutra means
[A] §F
[B] wr=y
[C] famm:
[D] =igar
[EEG ERIR (]

Which of the following Sutras is applied
to form the word ‘F391’?

[A] SR §E)
[B] wdt 3w

[C] @ Fyiomg
[D] w9 599
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foremT |
The {3 in the word ‘BemT is
[A] TAT s
[B] gifr Rt
[C] fadar fnrfw
[D] =gdl il

Toft ¥ 9181 S—arTEy

The Samasa in the above example is

[A] wmERfey:
[B] WHIERErs:
[C] sr=fhE: |
D) e

. The expounded form of TFEF: is

[A] 6% U=

- [B] us: &

[C] &= o=

[D] w=T &

- Which of the following is an example of

FE AT ?
[A] widfer
[B] fawr:
[C] %ﬂm
[D] sifegem




9. According to Panini, FHIRY and 7 are
the varicties of

[A] s=gdnym:
[B] wcge:
[C] =hif:

[D] Fm=

10. The compounded word for F9&% THTY is
[A] Foawfing
[B] wwfivehmsy
[C] S7svey

[D] None of the above

11. Find the 12 syllabled metre from the
following metres.

[A] ==
[B] TdreeT

[C] g1

[D] Freafdey

12. How many ¥%¥s are there in ‘G@Edl
yfawea] a2
[A] Eleven
[B] Twelve

[C] Thirteen

: [D] Fourteen
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13'

14.

15.

16.

Which Samavrtta metre contains T, 9, W,
¥, 71 Ganas respectively?

- [A] T

[B] ¥nreqr
[C] =ferdt
[D] wefiwh

Which of the following is related to ;7

[A] FaToTq

[B] sigamq
[C] 3fa:

[D] sfeyae

In T metre, 9 comes after

[A] the 4th and 7th HEs of each foot

[B] the 8th and 7th 1% of each foot

[C] every 7th 3R

[D] at the end of each foot

How many H§%s arc there in each foot
(7<) of #TeT metre?

[A] Twelve
[B] Fifteen
[C] Sixteen

[D] Nineteen

[P.T.0.



17. Name the metre in which 3T falls afier the 21. Who is culogized in the Nandi Sloka of

12th and 7th $1¥<s of each foot (T18), the Abhijianasakuntalam?
[A] #=mrT=T ' [A] Lord Bisnu
[B] FEaRsAfeay IB] Lord Siva

[C] &= [C] Lord Balarama

[D] Lord Rama
[D] None of the above

22, How many Acts are there in the
18. The T’ Gana consists of

Abhijianasakuntalam?
[A] three 7% 3% [A] Seven
[B] three &9 s [B] Eight
[C] one ¥ 314X and two 7% s [C] Nine
[D] one T 3% and two & s [D] Ten
19, By SN 23. Which scason of the following is
e : : mentioned in the T of the Abhijfiana-
Fill in the blank with an appropriate word Gkl
from the following.
[A] i
[A] a&=afqosy
[B] dg:
- [B] w==s0
[C] =
[C] e
D] 3g

[D] A1t
' 24, e S e

20. How many vowels are considered as @57 Who made this remark?

[A] Three [A] F9=:
[B] Four ' [B] g
[C] Six [C]
D] Five ' [D] gwm:
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25. The name of g% in the Abhjjiana-
Sakuntalam is

[A] SH~+H:
[B] #r=s:
[C] =g

[2] None of the above

26. The hermitage of 99 was located on
[A] the banks of the river Malini
[B] the banks of the river Gangia
[C] the banks of the river Yamuna

[D] the banks of the river Padm3a

27. “APRYCEET 3 AT ARG |
Who is referred to here by TG ?

[A] s
[B] fidaer
[C] ==
[D] T
28, “RIIRE TR |

T = RER IR AT

Fill in the blank with the appropriate word
of the following.

[A] Teddiss:
[B] gdrisE:
[C] =gdlss:

[D] =dHIsT:
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29.

30.

31.

32.

‘e TR fvew: dew
Who is the speaker of the above
statement? '

[A] &Y
[B] fays:
[C] f¥aar
[D] serg

Who does not forsake the path of
Sakuntali while she is proceeding to her
husband’s abode?

[A] Deer
[B] Tiger
[C] Dog

[I3] Snake

Who was 97f=?
[A] A charioteer
[B] A fisherman
[C] A hunter

[D] A merchant

What name of the son of Dusyanta was
kept in the hermitage of Marica?

[A] 0
[B] wdzw=:
[C] =smafe:

[D] None of the above

[ PT.0.



33,

Who among the following accompanied
Sakuntala to her husband’s palace?

[A] 3&E:

[B] fgw:

[C] W

34,

3s.

36.

[D] fg=er

In which Act of the drama, Abhijjiina-
sakuntalam has the fisherman episode
been described?

[A] Sccond Act
[B] Fifth Act
[C] Fourth Act

[D] Sixth Act

By power of which &= did Sanumati
remain invisible in the garden of
Dusyanta?

[A] e
[B] forerfofifern
[C] =EETEETT

[D] None of the above

“sre1 T faferfey Predd @ s )

Who was indicated by ‘fafa:’?
[A]l g~
[B] wde:
[C] ==
[D]
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37.

38.

39..

40.

“FHeRAIUTEISE ;|

About whom this remark was made by the

king Dusyanta?
[A] ==t
[B] STl
[C] THfE
[D] it

‘et gRrET SEIshy 4
Who is referred to here by ‘&2
[A] &=
[B] fgw
[C] Wl
[D] wme:

‘e ATE: Toge: Wy T

‘Here ‘f&3:" means

[A]
[B] wigh:
[C] =g

[D] None of the above

The reunion of Dusyanta and Sakuntala

-was held

[A] in the hermitage of Kanva

[B] in the hermitage of Marica

[C] in the royal palace of Dusyanta

[D] in the Apsaratirtha




